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24. Sketch the graph of a function g for which ] \

|
g(0) = g(2) = g(4) = 0,4'(1) = g'3) = 0, 7[ - Pame o¥ Oo

9'(0) =g¢'4) =1,¢9'(2) = —1,lim,_,5- g(x) = %, and
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lim\.g,,l+ g()() = —w,
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14. If a rock is thrown upward on the planet Mars with a velocity
of 10 m/s, its height (in meters) after ¢ seconds is given by
H = 10t — 1.861%
(a) Find the velocity of the rock after one second.
(b) Find the velocity of the rock when = a.
(c) When will the rock hit the surface?
(d) With what velocity will the rock hit the surface?
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51. The cost (in dollars) of producing x units of a certain com-
modity is C(x) = 5000 + 10x + 0.05x>.
(a) Find the average rate of change of C with respect to x when
the production level is changed
(1) from x = 100 to x = 105
(1) from x = 100 to x = 101
(b) Find the instantaneous rate of change of C with respect
to x when x = 100. (This is called the marginal cost. Its
significance will be explained in Section 2.7.)
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